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ZERIK

AT LA )«
PRHCH . Wik 100mLX 1 i, 4°CIRATE
RF—: Witk 2.5mLX1 i, 4°CHAT;

WA= Wik 12.5mLX 1 Jil,  4°CHEAF,

PR ER SN -
1. A RN JelCRME MR B N, O E R SR IR e R

(104 ™) : IR (mL) N 500~1000: 1 MELH] (Y 500 J340E 4NN 1mL 42 B, #
PR (UK, ThE 20% 88 200w, 7 3s, (ARG 10s, EH 30 ), #E 30min, 8000g, 25CEL»
10min, B _LEJEREN.
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2. A4 FBALURE () « REGIAB(mLA 1: 5~10 MIELE] CERREXL) 0.1g 441,
O ImL $REGRD, FEATUKIR SIS, # B 30min, 8000g, 25°CEL» 10min, HU BB,

3. Mg GO B BIRIME GO BB (mL « JEBEAR(mL N 1 5~10 LG (g
WH 0.1mL MiE GO IO ImL $RBGRD, BEATIKIBEAIE, & E 30min,  8000g, 25T &t

10min, HU_EiERF.

e PR
1. 066 T EE AR 30min LA E, K R 520nm, ZEKIEE.
2. TEMEAELEIE 96 FLBRFIMA 75 L FEART 25 uL k71—, B2, #HE 2min, fIA

125 0L WA=, WA, T 520nm B EERICE A.

AR & B 5
a. i E AR AL 2K HEARIT
1. FRAEZAE FIE B JTFEA v = 0.0466x + 0.0675;  x ARFIR S E (ug/mL), v AWGIE.

2. BTG RO HEUHE

PIBRARE &8 (wg/mL) =[(A-0.0675)+0.0466 X V1]+ (V3XV1+V2) =214.6 X (A-0.0675)

3. ZEIREARETH

A

a4 (1 g/mgprot) =[(A-0.0675)-0.0466 X V1] (V1 X Cpr)=21.46 X (A-0.0675) ~+Cpr

H

+ AR SRR

H
=
i

AlE & & (ug/g E) = [(A-0.0675)-0.0466 X V1] (W XV1+V2) =21.46 X (A-0.0675) =W
3. i A R O P A P B

PIBAER & & (1 g/104 cell) =[(A-0.0675)=0.0466 X V1]+ (500X V1-+V2) =0.043 X (A-0.0675)
V1: IR PR RHPREAMEL, 0.075mLs V2: IIANFREGRAARL, 1mLs v3: JIAIMIE RO

R, 01mL;  Cpr: FEREAFIKE, mg/mL; W: FEAFE, g; 500: ZHEH LA E3L,

500 /Ji.
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b.Fl 96 FLRAEHKIHH AR T

1. FRAEZAE R E 7784 vy = 0.0233x + 0.0675;  x NABIEE & & (pg/mL), vy ARG
fH.

2, fEMRIIE G ABUHE

HEARR &8 (ug/mL) =[(A-0.0675)+0.0233 X V1]+ (V3XV1+V2) =429.2 X (A-0.0675)

3. IME AR

WEARR & (1 g/mgprot) =[(A-0.0675)+0.0233 X V1]+ (V1 X Cpr)=42.92 X (A-0.0675) = Cpr
4, FIREM PR

PR &8 (ug/g #EE) = [(A-0.0675)+0.0233 X V1] (W XV1-+V2) =42.92 X (A-0.0675) +W
ENE G R

PEARR & & (1 g/104 cell) =[(A-0.0675)+0.0233 X V1]+ (500X V1+V2) =0.086 X (A-0.0675)
V1: N RHREAMER, 0.075mL; V2: JIANIREGEATN, 1mL; v3: IIANILE GRO
B, 01mL;  Cpr: FEAEE FABUKIE, mg/mL; W: FEAJE, g; 500: 4 sk4if ey,

500 /i.

EE:

BARAIMR Sy 1 ng/mL 58 11g/g #EFEEL 10ng/mg prot



